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And let us say, that it is hers — 77979 RRIRY

OVERVIEW

The X713 seeks to derive the rule that w1772 70> belongs to the father from
the P109 of 7o> X 01 XXM, The (seemingly) extra phrase of 702 X teaches
us that 77 1787 705 X however IR 117X? A3 W referring to the father. The
X713 challenges this inference; perhaps the IR N7X% 703 w° merely means
that there is an exchange of 702 when she leaves her father’s mwA, but not
necessarily that the 702 goes to the father, perhaps it goes to the daughter.
mooin asks why, if the o> goes to the daughter, is the P05 of AOd PR
necessary at all.

nooIN asks:
— ANY v 91395 NYN NP TIVYN NY 1992 H¥ N1 9IRN ON)

And if you will say; but perforce you must say that the 705 of 'n02 PX' is
not necessary for any other reason except to teach us that the Pv17°p 703

belongs to the father; it cannot be merely teaching us 702 W17 -
— 0y NTUN ANYP ANYD MM 9D NUTPNT NAT

For the rule that a woman becomes nwTyp?2 with no> we already derived

that through the 7m5p arsP W' from 11M5Y 777w, The only purpose of the TR P109
70> would (seemingly) be to teach us that the w1 7P 70> belongs to the father.” The
question therefore is how can the X713 ask that the monies should belong to her?!

N1B0IN answers:
— NP7 MIYNRWYM PN DN AN SV JIY 9NN NI NN DIP1 5197 999 U

And one can say; that notwithstanding the above, (just) from the fact that
the 09 of 7> X is superfluous, that is not sufficient to derive that the
7217°? belongs to the father, unless it is also indicated in the oD

mooIn responds to an anticipated question:4
$99998 NP Y9N 1INT 129N NIPONI NIPYT

" See “Thinking it over’.

2 Without no2 PR one would assume that the 703 belongs to the N2, for she is being nwpn. The fact that
there is an extra p109 teaches us that it is taken from the n2 and given to the father (who is the IR N7X).

3 In order to teach us such a novel idea that the Y17 o3 (of a 77¥1; who is a 72173) belongs to the father, a
superfluous 109 is insufficient. It is also necessary that it be (somewhat) indicated in the (extra) p105.

* The following follows the explanation of the X"w"n (based on the NBOIN in KXY 7"7 2,7 MNd). See
also 0" and w"n for alternate explanations.
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For (only) later® in the conclusion® of this discussion does the X923 state

that these two 2°210p are necessary. However before we know the X1p0n that we
can derive ar? 7wI1°p from the X1p7 XMmynwn, we would not have assumed that the
X727 X710 alone can teach us that 2R PWTp.

SUMMARY
We cannot utilize a X727 X70° in order to take money from one party and
assign it to another. It is necessary for the 2105 to indicate this transfer.

THINKING IT OVER
moon asks that we already know 702 w1 7p from 7mp .’ Why does
np0In assume® that that 37 78 "3 agrees to the am°p amp w2’

3 1,7. The X3 there states if the 770 would have only written 7P 7P (and not 217 IXX™) we may have
thought that the w17°P belongs to her, therefore the 77N writes 07 IRX™ to teach us that the Pw1TP 7O
belongs to the father. This would seemingly indicate that we derive 71°aR? Pw17p from the additional P10 of
D1M XYM (as MdoIN maintained in the question). See following footnote # 6.

® The xmx later on X,7 explains how the X1p7 Xmynwn of "3 DI AR¥™ teaches that 7°aR? 7w17°p (and not
merely RIP7T XN7).

7 See footnote # 1.

¥ See xam "7 3,7°"w1, who seems to be saying that there is a np1?n» from where we derive 703 "W 7Tp.

’ See n'"n1.
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